The 19 of February

Class work
Disappearing world



Environment
Overfishing

Air pollution

Holes in the ozone layer
Disappearing rainforest
Climate change
Nuclear arms

Factory accidents
Disappearing animals
Acid rain

Too little water
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Things that are happening in the world

Climate change

Air pollution

Acid rain

Nuclear arms

Holes in the ozone layer
Factory accidents
Disappearing rainforest



Climate change (the high temperature on the
thermometer and melting ice cap)

Air pollution (the factories chimneys on the right)
Acid rain (illustrated and labeled on the left)
Nuclear arms (illustrated and labeled on the right)

Holes in the ozone layer (shown by the melting ice
cap and aerosol can and the bottom of the picture )

Factory accidents ( oil spillage in the sea on the
left)

Disappearing rainforest (illustrated and labeled )



Acid rain

= rain carrying acid pollutants

from traffic fumes, industrial
output, central heating and air
conditioning .



Ozone layer

= the protective layer of ozone gas which

blocks out the sun’s harmful ultraviolet
rays. CFC’s (chlorofluorocarbons),
which are found in aerosol sprays and
refrigiration units, attack and destroy the
ozone layer



Global warming

- the increase in
temperature of the earth’s
atmosphere caused by the

greenhouse effect



Green effect

= the trapping of the sun’s warmth in

the lower atmosphere caused by an
increase in carbon dioxide and other

gases, which let the heat from the

sun in, but not allowed heat rising
from the Earth’s surface to escape.



Overtishing

= taking too many fish,

including young and female
fish, from one area of the sea
so that they don’t reproduce
and the number of fish
becomes smaller and smaller.



Too little water

- causing by part of drought

which can be the result of
climate change, and also by
higher water consumption in
cities which leaves less water for
the countryside.



Disappearing animals

= animals lose their habitat

and food sources through
industrial development
and pollution. The animals
can’t survive.



9 billion by 2050
27 billion

One fifth

202 cubic meters
100,000

In 1984

250,000

60%



Home task:
WB p. 47




